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(i) AABC T4T AFDE ¥,
¢A=2F=40°and «B=£E=60°
YT AB = Yol EF = 3.5 94}
AABC = ADEL

(ii) AABC TUT ABAD H,

£ZA = 2B,

25°+30°=55°= ~,CAB = ~DBA = 30°
UYSI AB = Yl AB (SHIT)

3{d: AABC = ABAD

(iii) AODA TAT AOBC ¥,

£ADO = £CBO = 100°

YST OD = Yo OB = 2 Tt
£AOD = £COB (XITSTfgy o)

3{d: AODA = AOBC
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(i) FIT AADB = AADC

B

AADB TUT AADC T,

£BAD = £CAD

+ADB = 2ADC=90°
YW AD = YT AD (SHIT)
AADB = AADC

(ii) 3T I8 HeT Wel ¢ fF BD = DC?
Bl

AADB = AADC

BD =DC
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gC:

AABD TUTAACD ¥,

2CAD = £BAD

<CDA = 2BDA

YW AD = YT AD (SHIT)
AABD = AACD
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AYST AABC Bt T BifoR STafds AC = 4.5 91T, BC = 6 IHI 44T 2C = 60°
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fea1 8- AABC T 3WAUS AC = 6 I
2A =60°dYT 2C = 45°
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1. TITYH TERGUS AC=6 I Wi,

2. 8 g AR U T RHR & TgTIAT H 60° BT HIUT d AT g5 3@ AX Wi |

3. S UHR fog C R U} d IRBHR & TgTIdT U 45° BT 10T -1 g5 3T CY Fidl |
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5. T8 AABC 3nfiE BT 81





